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There are 3 sections. Work on each section until you see a stop sign.
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a) Suppose you were at a dog shelter and you wanted to count all the dog eyes you saw. If there was one dog, how many eyes would there be? What if there were two dogs? Three dogs? 14 dogs? 100 dogs?  
Fill in the table:

	Number of Dogs
	Number of Eyes

	
	

	
	

	
	

	14
	

	100
	


b) Do you see a relationship between the number of dogs and the total number of eyes? How would you describe this relationship? 



You’ll have 10 minutes to work on this section. On some problems, you are told a rule used in the table, and on other problems you need to figure out what the rule is.

2) Fill in the missing numbers in this table:

	Rule:  Subtract 6

	Input
	Output

	22
	16

	25
	19

	27
	21

	31
	

	48
	


3) Fill in the missing numbers in this table:
	Rule:  Multiply by 2 and then add 1

	Input
	Output

	2
	5

	3
	7

	4
	9

	5
	

	8
	


	Column A
	Column B

	3
	5

	4
	6

	6
	8


4) What is a rule used in the table above to get the numbers in column B from the numbers in column A?

A)
Multiply the number in column A by 2.
B) 
Divide the number in column A by 2.

C) 
Subtract 2 from the number in column A.

D) 
Add 2 to the number in column A.
5) Kareem made the input-output table shown below.

	Input
	Output

	1
	4

	2
	9

	3
	14

	4
	19


Which of the following could be the rule for Kareem's input-output table?

  A) 
Multiply the input by 3, and then add 1 to the result to     


get the output.

B) 
Multiply the input by 5, and then subtract 1 from the 



result to get the output.
  C) 
Add 3 to the input to get the output.

  D) 
Add 5 to the input to get the output.
6) Carl made the table below to show the relationship between the number of hours he works (H) and the amount of money he earns (M).  
 

	Hours (H)
	Money (M)

	1
	6

	2
	12

	3
	18

	4
	24

	5
	30


Which of the number sentences shows a rule used in the table?
 
A)
 M = 6 x H
 
B)
 H = 6 x M 
 
C)
 H = M - 5 
 
D)
 M = 4 x H + 2 

7) Look at the table below.

	A
	B

	3
	7

	2
	5

	0
	1



Which of the number sentences shows a rule used in the table?
 
A)
 B = A - 4 
 
B)
 B = A - 1 
 
C)
 B = 2 x A - 1 
 
D)
 B = 2 x A + 1 

You’ll have 15 minutes to work on this last section. On these problems, you need to figure out a rule used in each table.
8) Gift Wrapping
a) At a gift shop, you can pay extra to have your present gift-wrapped, as shown in the table below. What is the total cost of the present with gift-wrapping if the cost of the present is $6? $14? What about $41?
If the total cost of a present with gift-wrapping is $36, what was the cost of the present itself?
Fill in the missing values in the table.

	Cost of Present

(A)
	Total Cost of Present with Gift-wrapping 

(B)

	2
	6

	3
	7

	4
	8

	5
	9

	6
	

	14
	

	
	25

	41
	



b) What is a rule for figuring out the total cost of the present with gift- wrapping?
c) Write this rule as a number sentence, using “A” to stand for the cost of any present and “B” to stand for the total cost of a present with gift wrapping.
9) Saving for a Bicycle

a) Every week Mark’s Dad gives him an allowance for helping him with chores around the house. Mark is saving his money to buy a bicycle. How much money has he saved after 6 weeks? 12 weeks? 52 weeks?
How many weeks does it take Mark to save $30?
Fill in the missing values in the table.

	Week
(A)
	Money Saved
(B)

	2
	6

	3
	9

	4
	12

	5
	15

	6
	

	12
	

	
	60

	52
	



b)  What is a rule for figuring out how much money Mark has saved?

c) Write this rule as a number sentence, using “A” to stand for any number of weeks and “B” to stand for the amount of money saved.

10) Dinner Tables

a) In a restaurant, dinner tables are always arranged together in a single line, as shown in the picture and table below.  If every seat is used, how many people could you seat if there were 6 tables? 15 tables? 51 tables? 
How many tables would you need if there were 32 people?

Fill in the missing values in the table.

Example for 3 Tables:




	Number of Tables 

(A)
	Number of People that can be Seated
(B)

	2
	8

	3
	11

	4
	14

	5
	17

	6
	

	15
	

	
	62

	51
	


a) What is a rule for figuring out the number of people that can be seated?

b) Write this rule as a number sentence, using “A” to stand for any number of tables and “B” to stand for the number of people that can be seated.

11) Look at the pattern below:

5, 14, 23, 32, __
What is the next number in the pattern?


A) 
40
B)
41
C)
42
D)
43 

12) Look at the number pattern below. 

0, 2, 6, 12, . . . 
Which three numbers are next in the pattern? 


A)
 18, 24, 30 
B)
 20, 30, 42 
C)
 24, 48, 96 
D)
 36, 108, 324
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